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| Question 11. (Illustration 11)

' Suppose that a firm has an all equity capital structure consisting of 1,00,000 ordinary shares of |

% 10 per share. The firm wants to raise ¥ 2,50,000 to finance its investments and is considering |

. three alternative methods of financing - (i) to issue 25,000 ordinary shares at ¥ 10 each, (ii) to |
borrow ¥ 2,50,000 at 8 per cent rate of interest, (iii) to issue 2,500 preference shares of ¥ 100 each

' atan8 per cent rate of dividend. If the firm’s earnings before interest and taxes after additional |

| investment are ¥ 3,12,500 and the tax rate is 50 per cent, FIND the effect on the earnings per |

- share under the three financing alternatives.

Income state ment :

'3 min
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Suppose that a firm has an

Optrons
Portreurors ! 2 3
ERIT 319800 319 S00 319500
-Interes+ = (0,000) -

ERT 319800 N39S00 312500
~Tax @ SO% (1 §6450) (1 46950) (156950)
EAT I564S0 14650 86250
- Pref. Drv =~ = (20.000)

NP for ESH 1 66dS0 1464 SO 36450
+ No OF B5 (100,600 +New) 21330600 £100,000 +106,000
EPS led B ey 6 1636

Deusron: Optron 2 shourd be seleched to mMmaximize EPs

C(ON-D) « COPIEQY 3trucrure: (3S0,000)

POrtrecdiors S R 2 3
Esc Q10) 4S0.006
R7 Deb+ 0,000
8. Psc QS0.000
¥ S06,000 ¥ S0,000 ¥S0,000
| NEw:
- 0) BQwrty 3hares < S000
| (VS0,000+10)
_b) Inferes+ 20,000
(¥S0,000 *8%)
' ¢) Prek. Dfyrdend 0,000
(50,000 % &%)
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1Y }min Best of Luck Ltd., a profit

| Question 12. (Illustration 12)
| Best of Luck Ltd., a profit making company, has a paid-up capital of ¥ 100 lakhs consisting of 10 |
- lakhs ordinary shares of ¥ 10 each. Currently, it is earning an annual pre-tax profit of ¥ 60 lakhs. |
| The company's shares are listed and are quoted in the range of ¥ 50 to ¥ 80. The management |
wants to diversify production and has approved a project which will cost ¥ 50 lakhs and which is
| expected to yield a pre-tax income of ¥ 40 lakhs per annum. To raise this additional capital, the |
- following options are under consideration of the management:
- (a) To issue equity share capital for the entire additional amount. It is expected that the new |
shares (face value of ¥ 10) can be sold at a premium of ¥ 15.
(b) To issue 16% non-convertible debentures of ¥ 100 each for the entire amount.
| () Toissue equity capital for % 25 lakhs (face value of ¥ 10) and 16% non- convertible debentures |
for the balance amount. In this case, the company can issue shares at a premium of ¥ 40 -
‘ each. !
ADVISE which option is the most suitable to raise the additional capital, keeping in mind that the
| management wants to maximize the earnings per share to maintain its goodwill. The company |
| is paying income tax at 50%.

Income state ment :

opfrons

Portreuiors ! 2 3

EBIT (60,00,000 + 40,0000) | 00,00000 }00,00000 }00,00000
- Inferest - (8,00000) (4,00000)

ERT 10000000 4200,0c0 9600000
-Tox ® SO% ( 50,0000) | (4600000) (4€0000)

EAT 5000000 4600000 4CO0%
= Pref. Dry — = -

NP FOr ESH SO000C0 4-600000 4-200,000
< No OF ES5 (1600000 +New) +1200,000 +10,00.000 +~1060,000

EPs Gty 4.6 4.5%

Deusron: Option 2 dhourd be ideletted +o mMEXxiMIRe EPS .

(WN-1) : coprtal dtrucrure:  (50,00,000 )

POrtreddiors 1 Q 3
Esc 50,00,000 (¥6) d S00,000 (50)
167 Debenture BOOB.000 d 00,000
| 50,00 000 50,00,000 50,00,006
' NEW: NG OF $hores 200,000 - 50000
Inrerest - OQO00 400000
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16 in  Shahji Steel Limited requires

| Question 13. (Illustration 13)

' Shahji Steel Limited requires ¥ 25,00,000 for a new plant. This plant is expected to yield earnings |
- before interest and taxes of ¥ 5,00,000. While deciding about the financial plan, the company |
._considers the objective of maximizing earnings per share. It has three alternatives to finance the |
project - by raising debt of ¥ 2,50,000 or ¥ 10,00,000 or % 15,00,000 and the balance, in each

' case, by issuing equity shares. The company's share is currently selling at ¥ 150 but is expected |
| to decline to % 125 in case the funds are borrowed in excess of ¥ 10,00,000. The funds can be |
- borrowed at the rate of 10 percent upto ¥ 2,50,000, at 15 percent over ¥ 2,50,000 and upto T |

1 10,00,000 and at 20 percent over ¥ 10,00,000. The tax rate applicable to the company is 507‘
percent. ANALYSE which form of financing should the company choose?

Income state ment :

opfrons

Portreurors ! 2 3

ERIT 500,000 500,000 500,000
- Interess (4s000) (137%00) (Q3700)

ERT 4715000 369500 R 6900
~Tax ® SO (37500) (1g1S0) (1313s0)

EAT 37500 rg1eso 1312 S0
= Pref. Drv - = =

NP for ESH 37800 181320 13186
*NOoOF ES < | Sooo + 10,000 + OO0

EPS 15.83 1R.13 1691

pecsron: Optron 2. should be sejected 10 maximise EPS

(N COPIHHY 3HructruTe: (2S00,000)

POortrediors - 2 3
Debt ( Borrowed) < S0,000 L6000 1600
Q50000 (1800055> 1600000
Q SCO000 { SOO000 ¥ 00,000
NEYY: @) NO OFFES : olele) 106,000 gCCOo

(QUs0000+160)  (1800,000+160) (IO +14%K)



L (onN) = Interest:
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Uptc S0O,000 107
RAbOYe 956,000 , Upto 10,00000 1S,
Above ro,00,000. Q0.
Optron . VSO0 X 107 = { SOOC

OptIDNR: Q0,000 X107, = {S0O00
00,000X 1SY. 2 119S00

)

10,00000 13700

»

optfond:  ISO000 x 07 ¥ SO0
Te3,000 F 1642 * 113800
Q00o000 X 07 < 160000

1SO00CA 237600 .
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Ganapati Limited is considering

| Question 18. (PP4)

I Ganapati Limited is considering three financing plans. The key information is as follows:
| (a) Total investment to be raised is T 2,00,000.

| (b)  Plans of Financing Proportion:

Plans Equity Debt Preference Shares
A 100% = -
B 50% 50% =
c 50% = 50%
| (0 Cost of debt 8%
' Cost of preference shares 8%
- (d) Tax rate 50%

| (e) Equity shares of the face value of ¥ 10 each will be issued at a premium of ¥ 10 per share.
(f)  Expected EBIT is ¥ 80,000.

I You are required to DETERMINE for each plan:
| (i) Earnings per share (EPS)
| (i) The financial break-even point .
(iii) Indicate if any of the plans dominate and compute the EBIT range among the plans for
indifference. '

1. Income stateraent :(EP3)

opfrons

Portreuiors _ A 8 _c

EBIT 80,000 0,000 20,000
- Inferess - (&c0) -

ERT &0000 TR000 g6000
-Tax @ SO (40000) (36000) (do,000)

EAT 40,00 36000 40,000
- Pref. Div = - (80c0)

NP For ESH 40,000 36000 - 32000
<NooFf ES 210,000 + 6000 + 6000

EPS 4 v 6ol

Deusron: opNon B should be selecked o maximise EPS
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(ON-) : COPI4) 3trucrure: (CO000)

POrtreddiors S 1 Y 2 4o 3
EsC 100 0,000 fo 100 fo 100,000
8. pebt+ 50 100,000
8% Psc fo 100000
100 00000 1060 0000 00 00,000
NEvy: 0) NO OF ES 10,000 5000 RO0O0
(E$C+20)
b) Infere i+ 8000
¢) Prefetence Dryrdend 000

. Frnoncga) BEP:

Extrg:v érnancra) BEP means ERLT ot which NP for E5H
rs 2€ro.
v Froancray . Interest p  Preference Drurdend
BEP I-4
v Reverse INCome 3dtatement:
Par - 8 ¢
EBI? NIL £00G 16000
-int 0 (foco ) -
C8T NZIL | 16000
~-Tor & SO” © o\5><
ERT 6.5 %000
~-PD 2co0
NP for s NEL NEL NEL

Froanara@ . Inferest o Preference Oruidend

BEP -4
Plon A = NZIL
Plon B = 8000 +0 = 8000
Planc = o + 8000 - 160CO .
1-0.S
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Inarfrerence Point :

Extra:
Indrfrerence Point redns amount of ERIT o which

EPs under both opMGNs s same.
Eps ~ (EBIT-Interest) (1-t) - Preference DIVITeNd

NO 6f E% .

@) Indrererence point berween A & 8:

EP3 under PlOPA = EPs ynder Plan B
(E®1T-0) (1-0.6)~0 . (EBI1r-R000)(1-0:6) ~0C
10,000 §000
O.8ERIT  _ _O.SEBIT- 4000
16000 FOOG
0.6 EBIT = (0.5 ERIT -Y0o00)X +6,008- L
50006 |
O.FEBIT = EBIT- £00C
£000 = 0.6 EBIT
EBTT = 16000 .
b) Indrfkerence Point besuweenN A & C:
EP$ unger Plan A S EP3 undexr Prlanc
(E82T-0) (1-06) -0 ~ (EBRIT~0) (1~0.6)-8&0c0
10,000 fooco
O. BERTT . OBEBIT ~8000
16,000 §ooo
0.5 ERLT = (0.6 EBIT - RO0C) X 16,000— 2
—Bo06— |

0.6 ERIT = FEBIT- 16000
6000 = 0.§ EBIT
EBIT = 3000 .
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® IndifFerence Pornt between B ¢ C:
EPS under Plan ® = EPS under Plan C
EBIT-g000) (1-0:-6) ~0 _ (EBIr~0) (1-0.6)- 8000
§000 fooo

O.BEBRIT-~ VOO0 O0.8EBIT- R00C

~
-

5000 5000
O.REBIT~Y00OC = O.KEBIT- R00C
© There s nho I'ndrfrence Doint berween
Plon B ¢ C.

Plan B domingtes PlON C:

Reacons:

a) Plan B has hrgher EPS In comparison fo Plan C

b Plan B8 has lower frnancal BEP In Comporrson fo Planc.
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Aaina Ltd. is considering

| Question 15. (PP1)

| Aaina Ltd. is considering a new project which requires a capital investment of ¥ 9 crores. Interest
|- on term loan is 12% and Corporate Tax rate is 30%. CALCULATE the point of indifference for the
| project considering the Debt Equity ratio insisted by the financing agencies being 2 : 1.

As3umed: I3t Plon wos an  eausty.
dhar price = Rs.10

(N Copriod  Stracrdre:

PartrenQrs I o
&% De bt 6000000 R
Esc 900,006,000 300,000006 |
900,006,000 900,006,000 3
NEW : a) No ofF E4 (E3C+10) 90,00,000 30,00000
b) Inrerest ~ 72 00,000 .

4. ZnOrFfrerence Pornt:

optioni = Qptron 2
(EBIr-0)(1-0-3) . (EBIT- 7200,000) (1-0:3)
90,060,000 30,060,000

3
o.7EBIT = (0.7 EBIT- 6040000 x 9e,00,006—
—36,00.000 |

O-7 EBIT = ! EBIT~ 15120,000
16120,000 = 1«4 ESZLT
<. EBIT = 10800,000 .
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| Question 16. (PP2)
| Xylo Ltd. is considering two alternative financing plans as follows:

Particulars Plan - A ) Plan - B (%)
Equity shares of % 10 each 8,00,000 8,00,000
Preference Shares of ¥ 100 each - 4,00,000
12% Debentures 4,00,000 -

12,00,000 12,00,000

- The indifference point between the plans is % 4,80,000. Corporate tax rate is 30%. CALCULATE the
| rate of dividend on preference shares.

| 4. Rate of Ppreference Prvidend

EP4 under Plon A = EPS under Pl1ON B
(480,00 - 48cco) (1-03) -0 _ (480,000-0) (I1-03) - PO
0000 20,000
302400 = 3360600 -PD
PD = 336000 -302400

R TYe o

“. RoteoF Preference _ 33600

S xtoo= 8l %
bividend 4000C0
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Ganesha Limited is setting up a project with

Question 17. (PP3)
| Ganesha Limited is setting up a project with a capital outlay of ¥ 60,00,000. It has two alternatives
Iin financing the project cost.
| Alternative-1: 100% equity finance by issuing equity shares of ¥ 10 each Alternative-Il: Debt-
equity ratio 2:1 (issuing equity shares of ¥ 10 each)
| The rate of interest payable on the debts is 18% p.a. The corporate tax rate is 40%. CALCULATE
' the indifference point between the two alternative methods of financing.

C(wN-4) : caprba) Structdre:  (60,00,000 )

Porticutors ! 2
E5c (10) 60,000C0 I 20,00.000
182 Debt 2 4000000
60,06000 3 6000000
NEYY: Q)NO OF E5 (ESC=10) 600,000 200,000
b) Interess - 720,000
(40LO00 X 187)

Y. InQreference Pornt:

EPS undec Ploni = EPs wunder Plan?
(EBIT-0) (I-0.4) _ (EBIr-720000) (1-0.4)
606000 200,000

0.6 EBIT = (0.6EBIT-43000) X 66e,60¢-3
200,000 |

6.6 EBIT = L8 ERIT- 1396000
1296000 = 16& ERIT~0.6 EBIT
EBIT = 100,000 .
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Alpha Limited requires funds

| Question 20. (PP6)

| Alpha Limited requires funds amounting to ¥ 80 lakh for its new project. To raise the funds, the |
- company has following two alternatives: |
| (i)  To issue Equity Shares of ¥ 100 each (at par) amounting to ¥ 60 lakh and borrow the |
balance amount at the interest of 12% p.a., or

| (i) Toissue Equity Shares of ¥ 100 each (at par) and 12% Debentures in equal proportion.
' The Income-tax rate is 30%.

| IDENTIFY the point of indifference between the available two modes of financing and state which |
| option will be beneficial in different situations.

C(wn-) : Caprtal Structure:  (8000,000)

Porticuiars Plan | Plon 2
Esc 600,000 40,00,0¢0
13% Debi 206,00,000 40,00,000
O,0000 0,000600
NEW: 0) No OF €5 (E5C=100) 60,000 40,000
b) Inreres+ Q406,000 420,000

1. IngrfFrerence Pornt:
EP5S under Prani
(EBIT-40,000) (1~0.3)

1)

EP5S undet Plon 2
-~ (EBIT -4%000) (1-0:3)

60/‘0(:(} 4@/%
fe&
0.7 EBIT - 168000 = (0.7 ERIT- 336000)* 65,606 —
40,000 |

O ERBIT 168000 = 666 EBIT- 504000
BO4OOQH 680CO = 1:085 EBIT ~0.T EBIT
336000 = 0-36 EBRIT
EBIT= 960,000 .
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Q. Income Stafement:

S = FBIT = 970.000

_Parkrcaiars Plan | plOn 2 Plan ! Plon 2
ERIT 9 50,000 950,000 970,000 970,006
-Interesd (RY40000) (420,000) (RYo000)  (420000)
ERT 710,000 406,000 130,000 490,000
~Tax ® 302 (13000) (1491000) (19000) (J4T000)
NP For EBSH 497000 3 3000 511000 343000
* No OF F5 + 606,000 + 40,000 + 60,000 +40,000
EP4 8 8 g.23 L:62 .58
Range : Preferred Pl1an
Below Indrrference Poin+ . PlOn ) (lower Int + PD)
A Indrrference Point ! Pran 1 or Pron 2
kboye Indrrference Point ' Pfon 2 (HIgher Ink+ PD)
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Yoyo Limited presently has * 36,00,000
| Question 19. (PP5)

' Yoyo Limited presently has ¥ 36,00,000 in debt outstanding bearing an interest rate of 10
- per cent. It wishes to finance a ¥ 40,00,000 expansion programme and is considering three -

| alternatives: additional debt at 12 per cent interest, preference shares with an 11 per cent |

dividend, and the issue of equity shares at ¥ 16 per share. The company presently has 8,00,000
| shares outstanding and is in a 40 per cent tax bracket.

(a) If earnings before interest and taxes are presently ¥ 15,00,000, DETERMINE earnings per |
‘ share for the three alternatives, assuming no immediate increase in profitability. !
| (b)  ANALYSE which alternative do you prefer. COMPUTE how much would EBIT need to increase |
before the next alternative would be best.

4. Income Statement (EPS) : Optrons
POrtIcQrs I - B I
ERIT I 600,000 I 600,000 15000006
-1nterest (360000 +New)  (840000) (360000) (360,000)
ERT 660,000 Y0000 40,000
-Tayx_®40% (R64000) (456000) (456 000)
EAT 3960¢0 684000 684000
~ Preg. bDrv - (449000) ~
NP FOr ESH 3qé6cco 244000 624000
< No of B4 (800000 + Ney) 4+ 300000 + 800,000 + 10803000
EPS 0.495 0.306 66|
pecrsron: Optron 3 shourd be accepied.
C(nN=D : Coprtal Atroctrore: (4000000)
Partrcators ! 2 3
127 Debt 4000000
Y. P3c 4600.000
Esc (16) 46,00.000
46,00.000 4600.000 4000000
NEW: 6) NG 0F €5 (40,008,000 =6) 150,000
B Tnreres+ 480,000
¢ Pref .Div 440,000
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2.1 After Optron 3 nex+ bes+ optron 14 opfron |

ii) Indrfference Pornt :
EPS _under Optron ! = _EP5 under opHon3
(ERIT - R40,000) I~0«4)  _  (EBIT-360000) (1-0-4)
£00,000

10 80,000
1.31QS

(0.6 ERIT- BO4O00) 1065,000. = (06 EBTT ~216000)
—L00,000- |

0.Y8TH EBIT~ 66ISO0 = OBH EBIT -AV 6000

O.7878 EBIT-0:6 EBIT= 66/500 -RN16000
0.1876 EBIT= YYK600

EBIT = 23,76,000 .

i) TF EBIT r4

Below 376000

= opHon3d Clow Nt & PD)
P+  A37600¢ = optron 10r 3
P-bove Q376000 = ophton |

(Righ Int+ & PD)

v) Bt present optron 3

rs berter when EBIT 73 Rs.15800,000.
IF EBIT rncreoses by Rs.876000 (376000 ~!600,000)
then optron 1 wri! be berer,
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40 M ID The following data are presented in respect

| Question 14. (Illustration 14)

The following data are presented in respect of Quality Automation Ltd.:

)
Profit before interest and tax 52,00,000
Less: Interest on debentures @ 12% 12,00,000
Profit before tax 40,00,000
Less: Income tax @ 50% 20,00,000
Profit After tax 20,00,000
No. of equity shares (of ¥ 10 each) 8,00,000
EPS 2.3 | |
PE Ratio 10
Market price per share 25| |

' The company is planning to start a new project requiring a total capital outlay of ¥ 40,00,000. |

I You are informed that a debt equity ratio (D/D+E) higher than 35%, pushes the Ke up to 12.5%, |
| means reducing the PE ratio to 8 and rises the interest rate on additional amount borrowed to |
14%. FIND OUT the probable price of share if:

| (i)  the additional funds are raised as a loan.
(i)  the amount is raised by issuing equity shares. (Note: Retained earnings of the company is X |

1.2 crore)
{. Income Starement :
Par+rcators 147 Deb+t ESC
EBIT 5892200 58 92200
- Z0terest (1200,000 + Nej) (1760000) (1200,000)
EBT 4132200 46900
~Tox ® SO (R066/00) (R3Y6r100)
EAT /NP fOr £5 4 Q066160 2346100
< No oF £4 (200000 +New) + 800,000 < 960.000
EPs 158 e yY
x P& RahMo x & x10
mps R0:6Y4 4.4y

beysion: EPS 13 hrgher under optron !  but
rpPs 13 Ihrgher under opfron 2
. Optron 2 (€quuty) 3houtd be 3Jselected.
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b Rexrsed EBIT =

C(oN=D: coprtal stracrure s (R3.40,00,000)
Portreanors: 14 7. Debt Esc
Q) Debt
olg: 137 Debt+ (1AL +12Y%) 100,00,000 100,000,000
Neswv: 1Yy Debd 40,00,000 -
Q) [40,00,000 1 C0,00,000
b EQuurty:
old: Esc (&L xrI0) £0,00,000 20,000,000
Rerarning Borning 130,000,000 120,00,000
NEW - ESC - 4-0,00,000
) 00,00000 240,00000
©) Debt + €quity:  (a+b) 314000000 340,00,600
d) 0ebt £Qurty Rato 108 941y,
1yoL
Dept - Koo < ° K!06> M’,ﬂgg)
0Rbt++équity 3hoL 340L
® PE Rato R 10
(as Dent equty (as Debt equrty
raho more thon ratro less tnon
3SY) 38V, )
F) NEW :
No OF ES - 160,000 (UOL+Q__§)
intere s+ 560,000
(ONR) ¢ : ~R T
o) Rerurn on . tRIT o0
coprtar employed Debt + €qusty
500,000 Xtoo ~ | T 33 ¥,

1001+ (ROL+ I0L)

(300l +4ot) X 17.3% %

§8Q2200



Question 24. (PP10)

|| Axar Ltd. has a Sales of ¥ 68,00,000 with a Variable cost Ratio of 60%.

A TRP sir

CA Rahul Panchal

Axar Ltd. has a Sales of

| The company has fixed cost of ¥16,32,000. The capital of the company comprises of 12% long |

| term debt, ¥ 1,00,000 Preference Shares of ¥ 10 each carrying dividend rate of 10% and 1,50,000 |

| | equity shares.

The tax rate applicable for the company is 30%.

| At current sales level, DETERMINE the Interest, EPS and amount of debt for the firm if a 25% |

| decline in Sales will wipe out all the EPS.

Solution:
—2S%,

Income drarement: N

fortreariofs orrgrnoy BEP Present leve)
jales 100 6805000 5% 810000 6205000
- ve 60 4020,000 (3060,000) 4020,000

confribution YO Q710,000 040,000 Q0,000
~Fe (163000) (163000) (1632000)
EBIT 10&2000 Y8003 ., 0 &2000

-_Inferes+ @1 (393714)
E8T | 14386 | 694286
~Tax @30 0.3 484 (R08288)
EAr o7 10,000 Y 26000
~Prek ory (16,000 (160.000) (16,000
NP for BSH = Yr6o00

+NO OF €5 160,000 + 150000 ~160,000
EP4 - LN

1. Inferest: 39371y

. EPS . 3.7

3. Amount of Debt: 393714 _ 3280960,

13y,



